CSCI 3134  
        summer 2011   
Test #1
p.1

Test time: 100 minutes 
Your name: 





    

Score: 



 / 80.

Note: 

Try to provide precise answers.
Budget your time over the questions!

Your writing should be easy to read.  When possible, try to print your answers.

You may use the back of the page as scratch paper or to write your answers.

Using a calculator is allowed. Sharing of a calculator (or anything else) is NOT allowed.

A. (40 pts) Fill in the blanks (2 point per blank). Note: Each answer may consist of multiple words.

1) ________________________________ is a graphical language that allows people who design software systems to use an industry stan​dard notation to represent them.
2) ________________________________ models software in terms similar to those that people use to describe real-world objects.
3) Java was originally developed for ________________________________.
4) Java class libraries are also known as Java ________________________________.

5) Every year or two, the capacities of computers have approximately doubled without any increase in price. This particular statement is related to the ________________________________ Law.
6) What is the hexadecimal equivalent of the decimal number 1234? Answer: ___________________.
7) What is the binary equivalent of the hexadecimal number ABC? Answer: __________________.
8) Before the data stored in the disk can be processed by the computer’s processing unit, it first needs to be moved into the computer’s  ________________________________.
9) The command to execute the Java class file Welcome.class is ____________________________.
10) An integer in Java is represented as 32 bits. What is the largest integer that can be represented in Java? Answer: ________________________________
11) What is the fully qualified name of the package that is automatically imported into each Java application (and therefore does not require an explicit import? 
Answer: 







12) What is the value of the variable result after the following Java statements execute? 
Answer: 








int a, b, c, d, result;


a = 4;


b = 51;


c = 37;


result = a + b % a * c; 

13) Suppose m1 is a public instance method defined in a class called ClassA. The method header is shown below.

public void m1 (int number)
How would the main method of another class (ClassB) call m1? Show the statements.








 // object instantiation








 // method call
14) Attributes of a class are also known as fileds or 





.
15) Given the following class diagram, write down your interpretations of classA and classB’s relationships: 
Each classA may be watched by 




 classB.

Each classB may watch 




 classA.


[image: image1]
16) Structured programming requires only three control structures, which are selection, sequence, and    





.
17) While the shape of a diamond in a flowchart represents a decision or condition, the same shape in an activity diagram represents either a decision or a 




.
18) Suppose a class called ABC has only one instance variable called abcDef, which is of type float. 
Show how the get method for this instance variable would be defined.   
B.  Program Tracing
1) (5 pts) What is output by the following Java program?

	public class Mystery {

    public static void main(String[] args) {

        int row = 5;

        int column;

        while (row >= 1) {

            column = 1;

            while (column <= 5) {

                System.out.print(row % 2 == 1 ? "<" : ">");

                ++column;

            } // end while

            --row;

            System.out.println();

        } // end while

    } // end main

} // end class Mystery



	Screen Output:




2) (5 pts) What is output by the following Java code segment?

	        int temp = 180;

        while (temp != 80) {

            System.out.printf("temp: %d\n", temp);

            if (temp > 90) {

                System.out.printf("temp = %d. Too hot!\n", temp);

                // cool down

                temp = temp - (temp > 150 ? 70 : 40);

            } // end if

            else if (temp < 70) {

                System.out.printf("temp = %d. Too cold!\n", temp);

                // warm up

                temp = temp + (temp < 50 ? 50 : 20);

            } // end if

            else {

                System.out.println("OK temperature");

                temp = 80;

            } //end else

        } // end while

        System.out.printf("The current temperature is %d.\n", temp);



	Screen Output:




3) (5 pts) What is output by the following Java program?
	public class ClassA {

    int int1 = 1;

    public void setInt1(int number) {

        int1 = number;

        System.out.printf("setInt1: %d\n", int1);

    }

    public int getInt1() {

        System.out.printf("getInt1: %d\n", int1);

        return int1;

    }

    public void method1ClassA() {

        ClassB objB = new ClassB();

        objB.method1ClassB();

    } // method1ClassA()

    public static void main(String args[]) {

        ClassA objA = new ClassA();

        objA.method1ClassA();

    } // main()

} // end class ClassA


	public class ClassB
{


int int2 = 2;


public void method1ClassB( ) {



System.out.printf("method1ClassB: %d\n", int2);

           ClassA objA = new ClassA();



System.out.printf("int1 in objA is %d\n", objA.getInt1());

           objA.setInt1 (int2);

           System.out.printf("int1 in objA is %d\n", objA.getInt1());


} // method1ClassB()

} // end class ClassB

	Screen Output:




C. (5 pts) Modify the given code to produce the output shown below. 
Note: Use proper indentation techniques. Make no changes other than inserting braces and changing the indentation of the code.
	x = 5;

y = 8;

if ( y == 8 )

if ( x == 5 )

System.out.println( "@@@@@" );

else

System.out.println( "#####" );

System.out.println( "$$$$$" );

System.out.println( "&&&&&" );


	Screen Output:

@@@@@
$$$$$
&&&&&


	Revised code:




D. (10 pts) Algorithm Design 
The problem: Design a program that reads numbers from the user until a special value (-99) is entered. It then displays the sum of the largest and the smallest numbers. Show your algorithm as a pseudocode.
E. (10 pts) Java Programming
Write a complete Java application that prompts the user for a number and then prints the number entered by the user on the output screen. The number entered should be treated as a floating point number. A sample output screen of running the application in NetBeans is shown below.
run:

What's your bid? 12345.555

Your bid price is 12,345.56.
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